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tail ratio approx. for pstable(a =1, 3=0.5)
e(x) = (F(x, .) -Fp(x, .)) [Fe(x, .)

log(€) = 28.58 +-14.23log(x)
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tail ratio approx. for pstable(a =1.1, 3 =0.25)
e(x) = (F(x, .) -Fp(x, .)) [Fe(x, .)

log(€) = 6.55 +-2.329log(x)
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tail ratio approx. for pstable(a =0.99, B =0.992)
e(x) = (F(x, .) -Fp(x, .)) [Fe(x, .)

log(€) =-0.1036 +-0.7637log(x)
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tail ratio approx. for pstable(a =1.2, 3 =0.5)
e(x) = (F(x, .) -Fp(x, .)) [Fe(x, .)

log(€) =2.977 +-1.562log(x)
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tail ratio approx. for pstable(a =0.7, 3=0.9)
e(x) = (F(x, .) -Fp(x, .)) [Fe(x, .)

log(€) = -8.897 +0.2389log(x)
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tail ratio approx. for pstable(a =1.7, 3 =0.6)
e(x) = (F(x, .) -Fp(x, .)) [Fe(x, .)

log(€) = 1.063 +-1.403log(x)

20 50




€ (‘eps’)

0.020 0.050 0.100

0.010

0.005

tail ratio approx. for dstable(a =1.01, 3=0.8)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(g) =0.6434 +-0.8349l0g(x)
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tail ratio approx. for dstable(a =1.05, 3=0.4)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(€) =—-0.03811 +-0.8441log(x)
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tail ratio approx. for dstable(a =1.1, 3=0.4)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(€) = 0.04095 +-0.8669l0g(x)
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tail ratio approx. for dstable(a =1.2, 3 =0.5)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(g) = 0.3444 +-0.9079log(x)

10

20

50

100 200 500




€ (‘eps’)

0.20

0.10

0.05

0.02

0.01

tail ratio approx. for dstable(a =1.3, 3=0.6)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(g) =0.571 +-0.9479l0g(x)
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tail ratio approx. for dstable(a =1.4, 3=0.7)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(€) = 0.7615 +-0.9913log(x)

10

20

50 100 200




€ (‘eps’)

0.50

0.20

0.10

0.05

0.02

tail ratio approx. for dstable(a =1.5, 3=0.8)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(g) =0.9543 +-1.047log(x)
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tail ratio approx. for dstable(a =1.5, 3=0.8)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(e) =0.8376 +-1.022log(x)
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1.5,$=0.8)

(f(x, .) = fo(x, ) /fo(x, .)

tail ratio approx. for dstable(a

g(x)

1.385 +-1.093log(x)

log(e)
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tail ratio approx. for dstable(a =1.5, 3=0.8)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(€) = 12.58+ -2.263l0g(x)
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tail ratio approx. for dstable(a =1.6, 3=0.9)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(€) =1.178 +-1.125log(x)
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tail ratio approx. for dstable(a =1.7, 3=0.1)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(€) = 1.996 +-1.698log(x)
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tail ratio approx. for dstable(a =1.8, 3=0.2)
e(x) = (f(x, .) = fo(x, .)) /Ta(x, .)

log(e) =2.62 +-1.901log(x)
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